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I 2 mwn:impact of “early” np>1a on 7™ day of nm
a  If: she checks in morning of 7t and is "Mnv, doesn’t check in afternoon and after a few days finds o7 —she is n1nv npra
i And: she has y"9yn nrmv back from when she found o7
1 Observation: this disproves 817’s claim that 1:7 1) means that there is no »"9yn nkmv during nar ">
(a) Challenge: we already refuted him (.0%)
(b) Explanation: perhaps this is yet another refutation
(i) Block: y"oyn refers to clause #3 of X mwn — 8”10 since she’ll have 7MY 07 (D9IN2), no Y"Hyn — Y"np that she does
ii  But: if she has a non, then nnyw n”
1 Suggestion: this should refute YR1Ww’s position that there is no non established during nar »m>
(a) Block: Yrmw meant that 3 times (off) aren’t needed to uproot it, since her nn7 aren’t likely to appear now
ili  Dissent: n1yn ' — if she doesn’t check in afternoon, she is RNV NPIN2
1 Response (8117713): if she was checking throughout w”3, that position would make sense
(a) However: checking once in the afternoon is no different than checking on 1%t day
(i) Observation: mention of “1%t day” is odd — even >nan of our nwn only allow from 274 day
(if) Defense: 221 notes that he asked 11 w" about days 6-2 (affirmed) and should have asked about day #1
(iii) Explanation: he didn’t ask about day #1 as he thought that it is a mna 17yn (but was wrong)
iv opom: even if she checked on day #2, was nmnv and didn’t check for rest of 7, then found T a few days later - nm1n0 nprna
b But if: she checks in morning of 7t and is nknv, doesn’t check in afternoon and afterr a few days finds herself clean — nxnoY NpN
I »%/21-dispute if “she” is "R nar or Pav nNar
a  Question: what is the referent?
i Cannot be: 1st case — as she is n7nv nprna
it Must be: 2" case — but how can she be &1 nar (position of 17)?
b  Answer: their dispute was about a different case — a "1 who checked morning of 7t and was n&nv, didn’t check until a few days
later (at least 3) and found herself to be nxnv
i 37 sheis »®™ nar, as she has seen from day 7 through (e.g.) day 10 — 3 days of N2t (assume constant flow)
ii ~ n% sheis a nar pav, as she may have stopped in the meantime (perhaps she didn’t see on days #8 or 9) (support- 1% in xn»2)
II 3 mwn: dispute 21»9R ™, YW1 1 and ™ about impact of np»72 on 1% and 7t days (only) of ©»p1 't for nar
a  ~”r considered nmnv (gets “credit” for all 7 days)
by “1 has to keep 5 more days (dasy #1 and #7 “count” towards n»p1 1)
¢ y”1needs 6 more days (last day checked is first day of her n»p1 ')
IV Discussion -»:0 nT) Rnaom —
a 715 K" this allows for “skipped” counting; v. 1 indicates that there can’t be nkmv in the meantime
b Defense (»): if a a1 sees "p, or a 11 walks atop my191 Mo, they only lose that day, in spite of v. 2
i N7 those cases are different; v. 3 limits n7’no to N2>t & no reason for N to equate them as people don’t confuse 1"v w/awn
1 And: walking atop my»191 m230 is 10 8NV (171 of proper YnR) — and people don’t confuse RN NRT with 131277
2 But: here, if you are concerned that she saw in the meantime, we should be 113 and disallow day #1
¢ Final ruling (#0111 ©”9): even though y™’s position is most reasonable (and »’s the least) — na%n follows r™
i Follow up question (per ¥™): if n/ar checked on day 1 and day 8 - valid?
1 37 valid, no need for both nYnn as well as 1910
2 nrin 77 invalid; even 8™ only permits if mp1a “bookend” the proper period (days 1 and 7)
(a) Challenge (to 27): Rn2 - “they” agree that if a a1 checked on day 1 and 8 — only gets day 8 (as 1 day)
(b) Presumption: "pv” refers to 8" and
(c) Correction: “pnw” refers to »”1 and »™ (i.e. »"1 does not grant day #1 in this case)
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ii  Follow up ruling: of 27 (per nwW "7, quoting Rak 71 Pn7 ) regarding nar (not n1) who did np»7a on her 3 day of o7
1 First understanding: she may count day #3 as her first of n»p)
(a) Challenge: this is the approach of the o' (to employ 15133 DYh nNXpn to ©»p1)
2 Rather: she may start counting on day 4 (even if she only does np>12 on day 3 and then, again, on day 10)
(a) Teaching: that 11 also doesn’t require in%nn
(i) Note: in previous discussion, he doesn’t require 1970, but X"10 that he would need n%nn to establish n7nv npm
(b) Challenge: the rule of "nyv” (above .%-.v3) we don’t require m>71v for nar during 1t week
(i) Reason: we require 1718 190 (>shouldn’t allow n1av without 1n%nn, i.e. starting on 3)
(if) Answer: we attributed that ruling to ™, who does require 12218% P90 (1121 don’t require 11195)
3 Inquiry: source that 127 indeed hold that there is no need for 12189 11190 (allowing 117 to permit 1910 alone)
(a) &n73x if a woman comes and says that she saw o7 for 1 day, but has no idea when or nar/nm
(i) Then: she has 9 m%av (each night from when she arrived, and 1% and 2" days as potential Dy nImW)
(ii) Note: if she arrived w”n’a she needs 11 — 8 for nm and 3 for na
(b) 2" clause: if she says that she doesn’t know when or for how many days she saw’
(i) Then: she has 15/16 m% a0
1. Explanation: if she arrived at night (may have seen that evening), has 8 m»av each for nm (N) and nar (D)
a.  But if: she arrived during day, only 7 for nm1 (N) and 8 for na1 (D)
(ii) Proving: that 1327 don’t require 12125 11190 — else she would just be n%21v once on 8" day
1. Attempted block (901 377 71772 Anx 77): perhaps it means that she doesn’t know how many days she counted
a.  Block: if she already started counting, she shouldn’t need last n%2v
2. Rather: she claims that she doesn’t know if she counted at all

1 The first read - %7 8Y — is impossible, per 817's equating it to silly law in 'Y
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